SN OEEAED}

T M
o ¥

ZH: OHIUD FEBS(NIASNT/ES - I EL0I)
&Hel: 4FF]ED|E 5 2 H4dsHNY IIE (eHel Q)
EVIRE-ES %(gml) ku 1 Ared - @ge , olarey BE L e
GldE8AEIIEW 40,845,548 35,851,134 4,994,414
= 8,420,291
Xl 5,072,000
I 17,314,535
== 10,038,722
HEFHMN AHTS(MIEX/ER] - IESLAHAY) 8,686,627 8,413,825 272,802
= 2,070, 157
J| 3,019,570
& 3,596,900
HAFFP|E 25 2 Hds=ENLY X2 3,892,682 3,944,253 251,571
= 1,913,569
Il 122,730
& 1,856,383
GEsad F8 129,326 105,306 24,020
201 LBt A 32,900 3,000 29,900
01 At 22l 32,900 3,000 29,900
O0&II =N 2Y 32,900
202 G4 4l 8,000 8,000 0
01 =LHOiHI 8,000 8,000 0
ou4gI=zd g8 =& 8,000
301 YA ' 10,496 6,376 4,120
B A ERRAEAZ 10,496 6,376 4,120
OASERQIABAS 10,496
308 XtXIEHMI SOl 77,930 67,930 10,000
01 AXSHMBLAEEXS 77,930 67,930 10,000
OZAURSERNNE 5 XJ 77,930
S0 d+d 2 900,000 873,000 27,000
36 == 900,000 873,000 27,000
01 &d= 900,000 873,000 27,000
onMcgol S20drEd 29 900,000
M2HH XNF¥2G(Z0)(XHE) 10,000 0 10,000
= 5,000
& 5,000
307 QI2t0I A 10,000 0 10,000
=2 5,000
& 5,000
11 MESXAIEEX 10,000 0 10,000
OHEMLME 2 XA 10,000
= 5,000
== 5,000
MdEH XN¥32Y(=20) 2,088,742 1,902,517 186,225
= 1,908,569
& 180,173
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SA: 6EE2EEL
FH: HEgFN) AHBS(MESX/E]R - IHEL0L)
R dFFEIIE IFE Y ods80He N (et &

o

ﬂ-;e gﬂ E’r-rl(:iliil) idl='z\h%’ was | e -
308 X}II SHHSOIH 2,088,742 1,902,517 186,225
= 1,908,569
& 180,173
01 AXESHMBLEES 2,088,742 1,902,517 186,225
OMLo-AE A 619,920
= 590,400
S 29,520
OXYUREH T2 1Y 29 564,893
= 564,893
OMgdH 28 X& 812,797
= 677,332
S 135,465
o3HEHENY 91,132
= 75,944
& 15,188
FAULFHLHIEXR(ZD) 122,730 300,000 A177,270
7 122,730
308 A XIEHMSOIA 122,730 300,000 A177,270
Il 122,730
01 ItXISHHBaEE 122,730 300,000 A177,270
OIHHUHENYE HYXR 122,730
Il 122,730
Hgoajgdy 2 376,000 344,000 32,000
307 2i2t01 A 376,000 344,000 32,000
10MIEXNANEHE2SHIES 376,000 344,000 32,000
OO0 NLHE 2 376,000
FHUHEO LS HgEe X HYXA 60,000 60,000 0
307 Qiztol ™ 60,000 60,000 0
1T AR SXIMNEEE 60,000 60,000 0
OFRCIEN 29 60,000
MZEXANE 28 =3 113,184 99,810 13,374
307 2iz2tol ™ 25,200 23,850 1,350
11 MIEXAEER 25,200 23,850 1,350
OZH? MISEXAE SAX SR+ 25,200
308 XXM SOl ™ 87,984 75,960 12,024
01 XIS ERS 87,984 75,960 12,024
OAl - Z MIABXANE SMX SX=E 87,984
Ml 183 MASAZ=O0EUERD el N 92,700 0 92,700
308 XX EtH SO0 A 92,700 0 92,700
01 AXNEHBEEES 92,700 0 92,700
OHl 182 MAESUFHLUERZ U3l Nz 92,700
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2A:
PSELN
ce:

HEHEAEIIED
AR UHE

(=]

S(ME=2X/E=

S - JI=E0i)

Claol ABIEOl SO U @ MY =R
T———— \ e T
L mE . qﬂ(zun) s A}a mée 0f At S HRS2
04’:"!3\!‘2@.’01 2y ‘%‘E Fagld _—251,827 240,910 10,917
HAEAS LR 30,437 30,440 A3
201 2| 10,217 10,220 A3
01 AR &2l 10,217 10,220 A3
OAY0A Oo3ta0l 2¢ 10,217
202 o4l 4,870 4,870 0
01 2L BI 4,870 4,870 0
OO0 & AE HNEs Fd 4,870
301 Bt A= 15,350 15,350 0
09 SHARIHIEAZ 15,350 15,350 0
OLANA Oor3tHI0l 2Y 15,350
XA HAEXIEX 24 24,000 24,000 0
307 212t0| A 24,000 24,000 0
02 A2t AMAIREEX 24,000 24,000 0
OZRJ0Y XXX &4 24,000
A LAICIEHS F& 92,200 86,200 6,000
201 et 6,300 10,300 24,000
01 AR Z2|HI 6,300 6,300 0
OAIAI S Al MAIRIRS 29 5,000
OAYEY D8 3F Hx3 1,300
202 Ol 3,000 3,000 0
01 20 I 3,000 3,000 0
OZANMHS A =& 3,000
301 LEtEAZ 5,500 5,500 0
09 SHAIAHIEAZ 5,500 5,500 0
OIAIA S AL AlAMAL AlH| B A 2,000
OAYY DE3F A3 FIHA AdlE4 3,500
307 212t0| A 62,400 52,400 10,000
02 DIZHEAAMNSEEZ 10,000 0 10,000
OAAIL A Al AHA! 10,000
1 ASIZEXIMEER 52,400 52,400 0
OMMYE & HF 32,400
OFR2&8A 20,100
O20Z A3 (6IH20F) 12,300
oYaXd & A4 10,000
O&sl= YM & &S 10,000
308 XX SHHSOI™ 15,000 15,000 0
01 AXSHBAEEZ 15,000 15,000 0
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2AH: H4EAEEY

IH: MM SHBWS(ASSN/ES - HEU0HL)

2 oge MEEN S0 2 2 Jd

— m—

S -HH . O(EH) - HEAL - B2 0l AboH G a0
FEEEETEEY | 15,000 '
2 HdAAN2SEE =2 10,000 10,000 0
307 B12t0| ™ 10,000 10,000 0
02 CI2HAAAIEE X 10,000 10,000 0
OLRHAE HAIESS &bt 10,000
LYHES J|ESA 45,190 47,190 22,000
201 et AHH| 5,190 7,190 22,000
01 AtR222ltl 5,190 7,190 22,000
OXEAYHE LRANLHA L AT WS4 2,190
OANEFTZE LH4LWSF2 J|EsiAMN X 3,000
307 QI2t0| & 40,000 40,000 0
11 AL Z2XAEEX 40,000 40,000 0
ONEFTE LHSF2 J|IE8A XIE 40,000
HAAE &0 A& 50,000 40,000 10,000
307 2I2H0| ™ 50,000 40,000 10,000
02 QIZHFAAIEE X 10,000 10,000 0
OZRANYH sMME AR 10,000
03 BIZIIHE A S2HHIEX 40,000 30,000 10,000
OLIATHHEHHES 2 K& 40,000
OHQIAES & ol 4,542,118 4,228,662 313,456
= 156,588
Dl 2,896,840
& 1,488,690
Ol - dotd XYl 2 (=2D)(2F) 7,000 7,240 2240
= 3,500
== 3,500
201 e BF2 A H| 7,000 7,240 AN240
= 3,500
T 3,500
01 AF22&2ldl 7,000 7,240 240
OO0tS - Mot XIEH 2¢ 7,000
= 3,500
== 3,500
OIS - (Mot Xl 29 (=21) 75,600 78,192 N2,592
= 63,000
& 12,600
308 XX ESHHI SO0l & 75,600 78,192 A2,592
= 63,000
= 12,600
01l AIXISHBAEES 75,600 78,192 N2,502
O0IE - (dotd XYl 29 75,600
= 63,000
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24

B

eel:

D HdEAEIIED

ClEEMI FABS(MEI=X/LS - HEL0IH)
OEQAES & HEg (e &)
SA-ZH-S9(E) - NRAY - BYS ol i l HRSZ
T — S - S— VO —T —1
M2 M2 A(21) 28,760 31,520 22,760
= 14,380
=S 14,380
307 2i2t0o| A 28,760 31,520 22,760
= 14,380
=S 14,380
11 ASIEXIAMEEE 28,760 31,520 22,760
OXdotdZZ e 2H 28,760
= 14,380
S 14,380
OlSCHEXITAMZ K& (2D1) 19,080 25,693 26,613
= 15,900
=S 3,180
308 X+ XIEHXMS0I & 19,080 25,693 26,613
= 15,900
S 3,180
0Ol IXSHHBAEES 19,080 25,693 26,613
OOIsSAHE XM Z XJ 19,080
= 15,900
=S 3,180
HONOISHAE 4 AADT ACAYSH(2D) 40,000 20,000 20,000
2 20,000
S 20,000
307 212+01 A 40,000 20,000 20,000
= 20,000
& 20,000
11 AL SXAMEER 40,000 20,000 20,000
OZMOISHEAYE o AN 40,000
= 20,000
[ 20,000
ROMS 422 2RSS XNAXVIIZ N (2D) 79,616 85,232 A5,616
= 39,808
= 39,808
307 2i2tol A 79,616 85,232 A5,616
= 39,808
S 39,808
11 ASIEXAMEEX 79,616 85,232 25,616
OROIE 4= HgusE XNAXNAI|2 XY 79,616
= 39,808
T 39,808
He=gad 2I8UsS 16,680 15,840 840
201 22| 1,700 1,700 0
01 At 22lH| 1,700 1,700 0
OUEAASTTANE SMILE 2Y 1,700
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2AH: H8EA GN
HE: AR

=e N GQQEE§

I T/a ,..;f"
202 01 4,000 4,000 0
01 2401l 4,000 4,000 0
OGIHHAET AYLEX 4,000
301 B A 10,980 10, 140 840
CERTEERE 10,980 10, 140 840
ONSAABTAL BAXLE 29 3,100
ORI Y 29 7,880
SIS XNRAE L AL 28(2D 204,642 200,570 4,072
| 150,513
= 54,129
308 XX EHHI SOl & 204,642 200,570 4,072
p] 150,513
= 54,129
Ol RSB ABES 204,642 200,570 4,072
OSMMIIBNK KRAIE 2 89,794
p] 73,948
= 15,846
OSMMIIEH AEs 2 114,848
Il 76,565
= 38,283
SUHIEK PEXA(2D) 19,428 19,428 0
Il 16,000
= 3,428
308 XtXI EHH SOl & 19,428 19,428 0
Il 16,000
= 3,428
01 RXSHBNEED 19,428 19,428 0
OSNNIHK PEX 19,428
p] 16,000
= 3,428
SWTEHA X/ JsEL(2D) 6,109 2,310 3,799
p] 4,073
= 2,036
403 IHXISHHS X201 & 6,109 2,310 3,799
Il 4,073
= 2,036
01 RXSHR=SE 6,109 2,310 3,799
OLMMNIBHK KRAIL IS 6,109
Il 4,073
& 2,036
eSS 13664E SR (2D) 476,230 425,661 50,569
Il 238,115
= 238,115
307 BI2H0|® 476,230 425,661 50,569
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SA: Ol HAEIIETD
u: OYIUIL SHBS(ASSN/ES - HELCA)
S9l: OlHOIAES U oY

Sl(31) - HSAY - BES . Sjaion
& 238,115
11 B =X AL EE 476,230 425,661 50,569
O0H2ZHS 1366 2L 476,230
y] 238,115
T 238,115
OAH2I2HE 1366ME SAXA(ISEL)(2D) 8,000 8,000 0
J| 4,000
= 4,000
402 9I2tXH= 0| ® 8,000 8,000 0
Jl 4,000
[ 4,000
02 QIZIIEAILEX (O HTHE) 8,000 8,000 0
OGIH2IZHS 13664E 2ANRISEY) 8,000
| 4,000
[ 4,000
a3 1366ME ER2 XY 36,119 31,021 5,008
307 QI2t0| A 36,119 31,021 5,008
10 ABIZ XA LB E AL X 36,119 31,021 5,008
O0iMATHS 1366 X2 XY 36,119
HAEZ 2 A BAX 241R(2D)(ER) 3,480 3,480 0
y] 1,740
T 1,740
307 212H0| & 3,480 3,480 0
J| 1,740
= 1,740
11 B =X AL EE 3,480 3,480 0
OGIMEY BUAL SAX 408 3,480
J| 1,740
T 1,740
HAEZ2 2@ AL AL 24D](21) 12,390 12,510 A120
7| 8,260
[ 4,130
308 Xt XI SRS 01 & 12,390 12,510 A120
bl 8,260
= 4,130
01 IXSHBASED 12,390 12,510 A120
OGIME AL EAX E2DS 12,390
p] 8,260
& 4,130
ZAMH0E =HXY 2YXR(2D) 26,698 26,451 247
Il 21,987
= 4,711
308 X+ XI XIS O & 26,698 26,451 247
pli 21,987
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M 0SB
B O{HIUD FHPS(MISK/ES - IEA0IY)
ol OlMoIAES X oY

SH - G(B) - NRAY - BES | e
01 UAXSHHBAEEZ 26,698 26,451 247
OZEIaoid =HXE 2L 26,698
J| 21,987
= 4,711
IHEEY OIiA ESAE 29 XJA(21) 506, 160 444,062 62,098
Il 422,016
< 84,144
308 AtXIEtM SO0l & 506, 160 444,062 62,098
| 422,016
= 84,144
01 X HBAEEZ 506, 160 ’ 444,062 62,098
OJEEZHIA ESAE 2 X 468,915
Il 386, 166
< 82,749
QIIEZIANA ESAE Hi+=32 MAY 25,000
I 25,000
OJIE =" HIoH At ZYESAH X 12,245
J| 10,850
= 1,395
JIEEY HiolX ESAE 2 XA 0IsEZ) (=21 9,450 19,449 A9,999
)
Il 6,300
= 3,150
403 XISt ER=0IH™ 9,450 19,449 29,999
Il 6,300
< 3,150
01 RXISHHA2E X 9,450 19,449 29,999
OJIEEY Lok ESAE 2Y XA 9,450
J| 6,300
& 3,150
IIEEH AgA SNV (D) 576,213 507,995 68,218
Pl 384,142
< 192,071
308 XM SO0IA 576,213 507,995 68,218
| 384,142
= 192,071
Ol IXHHBAEEZ 576,213 507,995 68,218
O EZGAEAs 2HEXR 576,213
| 384,142
< 192,071
IIEEY MK XIBsE T2OYW L 22| XI/( 151,603 169,116 217,513
=)
p) 133,401
=3 18,202
307 212tol & 5,000 0 5,000
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2AH: HEEAEI=DL
Bu: OjHEMY FABS(AS=N/LS - HELGA)
col: oiHoIARS U oY (erel:@R)
o = = S e i i DI : y5 - 2 ; R S
. & 1,500
11 A SXMEER 5,000 0 5,000
ONFEH TollX 28 XN (HE) 5,000
| 3,500
== 1,500
308 XIS SOl 146,603 169, 116 A22,513
| 129,901
T 16,702
01 XX SHHBAEEZ 146,603 169, 116 A22,513
OJIEE38 Ik Xgsl8 T2 K& 118,500
Il 105,000
= 13,500
OJWE =™ OHIahk 2l=zdl X& 28,103
| 24,901
& 3,202
JMEES Dt A RINSZZ2IY 2E(=1) 53,852 53,852 0
Il 47,717
= 6,135
308 XM SOIAE 53,852 53,852 0
| 47,717
T 6,135
01 AXSHBAEES 53,852 53,852 0
OJMNEEHY JtalAt nAXNzZ= 53,852
| 47,717
T 6,135
A2 Jloll A REXNSTZIH 2H(=21) 50, 165 50, 165 0
I 44,450
& 5,715
308 AHXI M SO0l & 50,165 50, 165 0
| 44,450
= 5,715
01 IXEHMBAEES 50,165 50, 165 0
O&E" Jtaikt REXNSEZZ2 Y 29Y 50, 165
J| 44,450
T 5,715
ZATMNOIFOHLEESAESIXA(=21) 130,258 128,134 2,124
| 107,272
T 22,986
308 XX XSO0l E 130,258 128,134 2,124
J| 107,272
== 22,986
01 IXEHBAEES 130,258 128, 134 2,124
O=&Ilol OlF0H4d ESAd 2SR 130,258
J| 107,272
== 22,986




A HEEAEIIFEY

FH: 8L SHBS(MEST/ER - HEL0Y)

el OldQdES & oY

A - é'i" ‘:*-:-I(ED’I) - I M% EQE - Ollato
ool HE 2SN (20) 1,195,985 1,318,510 £122,525
b 837,190
= 358,795
307 21201 & 1,195,985 1,318,510 £122,505
p 837,190
= 358,795
1 ABIS XA R E 1,195,985 1,318,510 £122,525
Ottt ME 2SI 1,195,985
p 837, 190
3 358,795
HELEIME JISEY X 30,790 0 30,790
b 15,395
= 15,395
402 QI2ERHR 0| 30,790 0 30,790
p 15,395
= 15,395
02 SIARZARE(OIRHR) 30,790 0 30,790
odlttaIME Js2Y XN 30,790
b 15,395
= 15,395
HEATHT 2EAE SSXA(2D) 102,555 103,599 £1,044
b 85,071
= 17,484
308 XHXIEHH SOl & 102,555 103,599 21,044
p 85,071
= 17,484
01 HXSHBLRxS 102,555 103,599 A1,044
ONEAUIBK EEANL 29 X 99,075
b 81,591
= 17,484
OMZAMMK EBAL BILST AHHI 3,480
b 3,480
423 J1ZE A4gA SYXNV(2D) 283,538 276,330 7,208
p 189,025
= 94,513
308 Xt XIEHH SOI & 283,538 276,330 7,208
g 189,025
= 94,513
01 XML RES 283,538 276,330 7,208
O4E - JIHZH gL 2IH 283,538
pJ 189,025
= 94,513
ZNL X2 - H=T2IY(3D) 42,434 42,434 0
p 37,600
< 4,834
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A HEELEIFL

FH: o4 ML LHBS(MISN/ES - IIEL0Y)

[=¥=TH HolAEs ¢ gt
[

/d ’!.' ':*-n—l(e-l]ll) kII M%‘:E’é‘% Ofl &k ,
%6 NASAS0Id 42,434 42,434 0
b 37,600
= 4,834
01 RXSHBASED 42,434 42,434 0
OSZALH XT -T2 Y 42,434
Il 37,600
= 4,834
ZAMHR I2H - 2EH X (2D) 54,806 54,806 0
b 48,562
= 6,244
308 XXIEHHIS Ol & 54,806 54,806 0
p 48,562
= 6,244
01 HXISHINSES 54,806 54,806 0
OMEZAWA X o2 - 2| X 54,806
b 48,562
= 6,244
SEAMHRA Y24 - SEHE - 2UHIS N(2 133,730 0 133,730
)=
b 93,611
, = 40,119
307 2I2+0I A 133,730 0 133,730
b 93,611
= 40,119
TEELNNEEES 133,730 0 133,730
ONZAMNK LB - SSHIS - 2HHIS
X 133,730
b 93,611
= 40,119
SEAHA 24 - SEHS - UL (2 400 600 2200
1)
p] 400
308 XbXIEHHI S0l & 400 600 £200
p 400
01 HXISHINSES 400 600 £200
ONZAMHA Y2 - S2HIS - LUHIS
X 400
p] 400
HERAAZTAL 29 X 50,347 66,462 216,115
308 XEXISHAIS Ol & 50,347 51,462 a1,115
0l HXISHZANSED 50,347 51,462 a1,115
OULHASTNE 2% XN 50,347
SHSYL 04=2 YANSA 29 46,000 0 46,000
201 YEt2 Y| 8,800 0 8,800
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=

A HEELEINED
I MR SHBS(MESN/ES - IHEL0E)

?: HgeAES 2 oY e )
— s T S B
CRA B GR(EH) - NP - BES olares G | uasa
01 AL & 2(H| 8,800 0 8,800
OSHS8T HE=" ANAEL 2 8,800
301 ptE A3 37,200 0 37,200
09 &AL HIZE &2 37,200 0 37,200
OSH=8L 4= JAaEL 2 37,200
CEZETa /208 2USXA 20,000 0 20,000
301 BtEAZ 20,000 0 20,000
09 &AM HIE &= 20,000 0 20,000
Od=ZAMaH |AJIHE USXE 20,000
Old OHAIFDF Botat S8 AMHIA 2Y 40,000 0 40,000
307 giztol ™ 40,000 0 40,000
11 MEEIMNSEEE 40,000 0 40,000
O AIt SEAMHIA 40,000
4 QXA 2F S HYu= 4,000 0 4,000
201 et A| 4,000 0 4,000
01 AL 22/ H| 4,000 0 4,000
od XA 2F2 ST HLR=S 4,000
CtEst 242018 XA (MSEX/E] - IIFLNA) 18,369,014 15,661,284 2,707,730
= 5,897,634
7 9,761,621
< 2,709,759
AEIE 23 =4 18,369,014 15,661,284 2,707,730
= 5,897,634
I 9,761,621
= 2,709,759
ZEOLIIE Z21708 29 X 6,500 17,300 210,800
202 o dl 6,500 6,500 0
01 = LHOIH 6,500 6,500 0
OZEOUXIIE XA F& 6,500
Ch2st & 22018 X3 WERD 75 2< 3,100 3,100 0
201 B2 3,100 3,100 0
01 AR 2elH| 3,100 3,100 0
ol=zst & H2AIE X HEHZ = 2Y 3,100
GEZEO0IYR LXEIMHIA KR 30,000 30,000 0
307 glzto| ™ 30,000 30,000 0
11 S SXMEER 30,000 30,000 0
OUHZEOIYR HY NS 30,000
- A IIEXEAA (=21) 267,577 163,728 103,849
= 222,981
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FA: GEE2EI=L

o [423 ALY KR (ABZX/2S - HSL0IY)

Sl AEIE 2 =4

(B8 Q)

SN -HH.G9(S) - MEAY - BHES | oa T HREY

308 AHXIHHME0IH 267,577 163,728 103,849
= 222,981
= 44,596

01 AXEHHZBLAEES 267,577 163,728 103,849
OFARAIIIIEXA 267,577
= 222,981
== 44,596

A2 L CI2sIIIE NJME 2 (22)(2H) 38,350 36,064 2,286
I 19,175
< 19,175

307 2120l & 38,350 36,064 2,286
Il 19,175
& 19,175

11T AL S XA EE 38,350 36,064 2,286
OUZSII=EXNRALMEH HEMH 29 38,350
I 19,175
< 19,175

AYIE L URBIIE NAMEH 2(20) 2,375,536 2,231,577 143,959
Il 2,054,613
== 320,923

308 XAHXIHHME0IH 2,375,536 2,231,577 143,959
p)| 2,054,613
= 320,923

01 AIXSHBAEES 2,375,536 2,231,577 143,959
OA2IE - USSIIEXNJAME SEAHIA 1,796,650
D) 1,572,208
< 224,442
OLUEINEXNJHE 2 578,886
J| 482,405
== 96,481

SE|0ILIEH 2g(=1) 182,400 91,200 91,200
J| 168,000
== 14,400

308 XXM E01& 182,400 91,200 91,200
D) 168,000
= 14,400

01 AXSHHBAEES 182,400 91,200 91,200
O3Ss0lLsH 29 182,400
Jl 168,000
= 14,400

OOIESXI&(21)(HY) 162,133 125,320 36,813
= 113,493
== 48,640

307 2120l & 162,133 125,320 36,813
= 113,493
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4 EI=0
3t 2A20H8 KB (MEEX/ES - IHELNHY)

SR AEIE 2 =4 (&2 & Q)
- il e ]
. 2M-B aﬂ(wn) TEVER 288 ofl &t o4 gn T
L ‘ - - E . ' L |
1 ASIEXIAHEE 162,133 125,320 36,813
OOI0IEE HEJI& 2Y 162,133
= 113,493
== 48,640
OHOIESEXNS(2D) 6,037,830 5,819,728 218,102
= 5,561,160
< 476,670
308 AtXIEHHSOIA 6,037,830 5,819,728 218,102
= 5,561,160
== 476,670
01 IXSHMBEEES 6,037,830 5,819,728 218,102
OOI0IEE MHIA X 6,037,830
= 5,561,160
=S 476,670
MAE SHRZOIE dEetd XY 530,900 517,038 13,862
308 AXIEHHSOIA 530,900 517,038 13,862
Ol AXESHHMBLEES 530,900 517,038 13,862
OMAS BREIIE HEotd X 530,900
StRLIIEXH gl X 76,000 77,770 21,770
308 AHXIEHHI S0 ™ 76,000 77,770 21,770
01 HXSHBLERS 76,000 77,770 21,770
OSRZRIIEXNE WSEH X 76,000
Ols2=|H XN&(=1) 3,863,250 3,878,955 A 15,705
J| 3,434,000
=SS 429,250
308 A XIEHH SO0l ™ 3,863,250 3,878,955 215,705
] 3,434,000
[ 429,250
Ol AIXESHHBAEES 3,863,250 3,878,955 215,705
OStRZItE IHH 2=|H S A& 3,863,250
Jl 3,434,000
=S 429,250
WA QIEZRR AHEIZ 2L(=21) 50,000 50,000 0
Il 25,000
< 25,000
307 21201 ™ 50,000 50,000 0
7l 25,000
[ 25,000
1A EXAHEE 50,000 50,000 0
ORIE DEZREN HEII& 2 50,000
Il 25,000
& 25,000
HAUSED Ols2=H XN (S1) 66,375 49,680 16,695
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SN 8 HAEIIED
FE: 25 AT N(MSSX/2S - HISU0A)

Bl AW 23 =4 (EHe:&E)
%‘-/d . cw(gun) )di A}a Ege el
: ‘ o
-3 7,375
308 X XIEHHSOI® 86,375 49,680 16,605
Il 59,000
& 7,375
01 HXSHBAEES 66,375 49,680 16,695
OHAESRR X X& 66,375
pJ 59,000
& 7,375
ANE 24T 4EX2 NR(2D) 10,980 7,380 3,600
7l 9,150
= 1,830
308 XHXISHH SOIA 10,980 7,380 3,600
Jl 9,150
& 1,830
01 HXISHHBAEES 10,980 7,380 3,600
OBR2 AlM AR HEXE NV 10,980
Jl 9,150
= 1,830
BHREIIE HYYMFEY F=AHXV(2D) 36,000 0 36,000
ol 36,000
308 XXM SO 36,000 0 36,000
Jl 36,000
01 HXESHANEES 36,000 0 36,000
ORI IE MWUUUFE FHX 36,000
pJ 36,000
HiAelolg JIE AL X2 35,000 30,000 5,000
307 QI2t0l A 35,000 30,000 5,000
11 A= RAIY B E 35,000 30,000 5,000
OAMIHQIE JIES8A XIS 35,000
CHESIIIS ABISE X 199,088 36,000 163,088
201 et | 1,000 1,000 0
01 At2 22| 1,000 1,000 0
OLIRSIIE FURYX oY 29 1,000
301 LEHR AR 15,000 15,000 0
09 BAIMHI2 42 15,000 15,000 0
OLI23IIE FURYX 2Y 29 15,000
307 2I2t0l A , 100,000 0 100,000
11 A =AY B E 100,000 0 100,000
OHESHSYY JI2 LI23IIE Ss8A 100,000
308 X XIEHHISOI® 73,088 10,000 63,088
01 HXSHBALEED 73,088 10,000 63,088
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= A

g

=B

D dEAEIOIEY
UEs A28 XN (MSEX/ES - IHEA0H)

AEIME 25 =4 (&tel:&H)
SN Y. O9(3) - HEAY - BA2 e HBE2
CEEERENFEEEEE 53.088| |
OLI2EIEXE =235 ol 20,000
403 XX EHHE X201 E 10,000 10,000 0
01 AXIAA2E = 10,000 10,000 0
QU2 XJME 2lsE2d 10,000 '
CtEst SSAE(=1) 2,095,225 0 2,095,225
I 1,956,683
< 138,542
308 AXIEH SO0l 2,095,225 0 2,095,225
J| 1,956,683
= 138,542
01 XX SHHBAEES 2,095,225 0 2,095,225
OXHLE & NHHME S HEAMHIA KR 876,204
| 807,030
== 69,174
OLUEZ3ItE At el X& 61,118
I 61,118
OZE0|2UX SHIAMHIA K& 405,366
I 373,363
= 32,003
OL=2&IIE XtHAEE K& 381,245
p) 351,147
= 30,098
@020 JIx8d =4 92,051
Il 84,784
= 7,267
os=0unsE 249 279,241
| 279,241
Ch2SotsX|HEH 298 X 151,270 151,270 0
308 AHXIESMSOIE 151,270 151,270 0
01 AXSHMBAEEZ 151,270 151,270 0
OCU2IIIEXHE 29 XA (KHA) 151,270
CI2SIIIEXdE HELdH 29 X 130,000 0 130,000
307 eIz2+ol ™ 100,000 0 100,000
11 AL SXIAMEEX 100,000 0 100,000
OLIZIIFXRME HEHLH 28 K& 100,000
405 XHAHE SHI 30,000 0 30,000
01 ML EEFHSHI 30,000 0 30,000
OLU2IIEXJHE HEHE JIsE2d XA 30,000
HAT 2=o=x0 2 OE3s Nd 825 29 6,000 0 6,000
201 29| 6,000 0 6,000
01 AR 22/ H| 6,000 0 6,000
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2A:

HEEAEII=D

3 028 ALt IIT-J(MSIEII/Er\ IIELNY)
S HEIIE 23 =
S - B a9i(a I) kuTA}g *EQE Copser
CEEE- 6,000
2R =S g#438 N 8,000 0 8,000
201 £ Br2HH| 8,000 0 8,000
01 AtR2-21tl 8,000 0 8,000
OZRT JixnE 45 X 8,000
SIRZIIESFEXNAE o9 =% 2,500 0 2,500
201 L EF2HH| 2,500 0 2,500
01 At222|H| 2,500 0 2,500
OSRZIIFEEXANE KA & 2,500
QUF Al HEC2IHE HB(2D) 2,000,000 0 2,000,000
Jl 2,000,000
403 XXM E X201 ™ 2,000,000 0 2,000,000
pJ 2,000,000
01 XM A2EE 2,000,000 0 2,000,000
ORFA #=ESHHH 2E 2,000,000
Il 2,000,000
AAE =28 4 MY TR 5,000 0 5,000
308 XXM SO0I™ 5,000 0 5,000
01 AXSHHBLEES 5,000 0 5,000
Ot JIIE2S o A Y X 5,000
Dich 8 HAH |KY(MEISK/ Q- HAA) 13,751,633 11,740,060 2,011,573
= 452,500
Xl 5,072,000
Il 4,533,344
== 3,693,789
HaE 24 Z20™ 29 2,552,421 2,079,240 473,181
= 434,000
J| 549,938
=5 1,568,483
HAUSH LEIAI2 FX 22,700 22,700 0
201 2 e+2| 13,700 13,700 0
01 At 22l bl 13,700 13,700 0
OFAHSY Yo FT 3,700
ORHAZES FAYE A& 10,000
202 O Hl 9,000 9,000 0
01 IWHOHI 9,000 9,000 0
OFEAHESH UBYPR = 9,000
A SEZZ0Y B3 30,000 30,000 0
307 gl1Zto| & 30,000 30,000 0
04 QUIHEHALALA E X 30,000 30,000 0
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A B AEEY
FH: it U EaE SH(MIEX/ce - ZAU)

thelr AW |84 T2 299 (et2l &)
BB O(E) - MEAY - BER | s She | Husa
O&EAH ES0l= HAEY 21,000
(OF=ENSPgage: PPN 9,000
dAE AL 29 720,000 390,000 330,000
307 2i2to| & 720,000 390,000 330,000
04 QUL AIAIS B X 400,000 0 400,000
©2018 = MIHEEHA K& 400,000
05 QIZtRIE S 320,000 390,000 A70,000
OZATHAESHD AE2Y 320,000
FALAHESHUEUH 2 205,500 189,000 16,500
307 212t01 & 205,500 189,000 16,500
10 AISISXAIEHE2SHEX 176,500 160,000 16,500
OCHEAHESUEHH LEEL 29 176,500
TASISENAISE R ~ 29,000 29,000 0
Ok ESMEHH MEXA 29,000
AW FAUFW Y RLZTZ0Y =2 60,000 108,000 248,000
307 QI2t01 & 60,000 52,000 8,000
1AM EXNAEEX 60,000 52,000 8,000
O&Ad XXX tHel 16,000
OFALAEANE BAA B & 24U 12,000
(OFSENT =N ImES 32,000
TZLUAL FAUS YAV 2Y(2D)(RB) 2,000 2,000 0
| 1,000
o= ' 1,000
307 giztol ™ 2,000 2,000 0
I 1,000
< 1,000
11 A SXAIEEE 2,000 2,000 0
O33+HANd FAERIYARS 29 2,000
2| 1,000
= 1,000
SS3EANE FAERHRARS 2Y(32) 31,000 31,000 0
Il 31,000
308 XXM SOI& 31,000 31,000 0
Il 31,000
01 AXSHHBLAEES 31,000 31,000 0
OZ2E+dAd FLHRHRAS 29 31,000
Il 31,000
S3ELAESEANE Z20Y 2Y 25,000 0 25,000
403 HXISHH S RH20I ™ 25,000 0 25,000
01 AXISHMA2E = 25,000 0 25,000
OFAYE XN EFAY 25,000
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M OEFHAHIIED
3 IIIIEH AT HAE SH(MSSEX/col - ZHAH)
Bl ¥ad |4 Z208 23 (Etel:&e)
I_-ur/a-aﬂ . a%(sml) HEANY - Ba2 0l &k e i HREY
IIQ".’E_*._'.-j'*ODI—_r' -S-%(‘E.‘D_)(Z‘-!’é*) 10,000 10,000 0
| 5,000
& 5,000
307 e12+0| & 10,000 10,000 0
J| 5,000
== 5,000
11 AISISXAIEEX 10,000 10,000 0
OXEHAEHEONIIFZ 2 10,000
J| 5,000
= 5,000
NHEL2EAOI|7? 29 (=2D) 25,200 25,200 0
Il 25,200
308 XAt XIEHH SO & 25,200 25,200 0
| 25,200
01 X SHMBAEEZ 25,200 25,200 0
OXNIHAEHENHII? 24 25,200
J| 25,200
ANLHAESSIEMEH Js2s(32) 626,333 618,500 7,833
= 187,900
== 438,433
307 2i2t01& 626,333 618,500 7,833
= 187,900
= 438,433
10 ALSISXAIEEE2IHIER 626,333 618,500 7,833
OXNLHEAHESIELNYH 29 626,333
= 187,900
o= 438,433
SN T2 2 (22) 25,000 25,000 0
I 25,000
308 Xt XISHXI SO ® 25,000 25,000 0
J| 25,000
01 AXStHBAEES 25,000 25,000 0
O33 ALY A4 T2 29 25,000
I 25,000
HAEX A BIXI X R (=1) 462,738 438,480 24,258
| 462,738
308 XXM SO0 ™ 462,738 438,480 24,258
J| 462,738
01 XN ZBAEES 462,738 438,480 24,258
O3S+ ANE ELBEX A HiX 462,738
| 462,738
FAENSEOY X/A(=21) 111,000 66,250 44,750
= 86,100
< 24,900
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FA: HEEAENFY
A 0 8 F4E SH(MIEX/c - HAA)

Ehel: EAaE 84 Z20Y 29 (&2 &81)
S - GQ(B) - NEAY - BHES ooty
308 AXIHHSOIA 111,000 66,250 44,750
2 86,100
< 24,900
01 AXHHMEBAEES 111,000 66,250 44,750
OHAE OSENY K& 111,000
= 86, 100
== 24,900
dAEs0te X|/A(21) 98,750 98,750 0
= 79,000
& 19,750
308 At XIEtM SO0l H 98,750 98,750 0
= 79,000
T 19,750
01 RIXEHHBAEEXZ 98,750 98,750 0
O&FAH Sotel XA 98,750
= 79,000
T 19,750
AAE A2 XA (=2) 97,200 0 97,200
= 81,000
== 16,200
308 AXIEXMSOI™ 97,200 0 97,200
= 81,000
T 16,200
Ol RXSHZAEES 97,200 0 97,200
O#AHE HAXE 97,200
= 81,000
= 16,200
HFAEES & Ak &5 5,662,212 5,535,820 126,392
=2 18,500
| 3,983,406
& 1,660,306
darE A5 BS 20,000 10,000 10,000
201 LEr2 Y| 20,000 10,000 10,000
01 At 2telHl 20,000 10,000 10,000
OLRAT SNEANUM XAAYS 2¢ 20,000
SHINEY (g Z203 2H9(=1)(HE) 58,314 53,704 4,610
I 58,314
307 12t0] & 58,314 53,704 4,610
I 58,314
11 ALSISXIAIEE X 58,314 53,704 4,610
O LEZH (YZZ O 2% 58,314
| 58,314
SNE (YL2IY 29(21) 65,964 64,230 1,734
J| 65,964
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2A HEF3LAENED
M Olg) AT HAE SH(AEEX/c0l - FAH)
B HAUES 2 M 8= (9 &)
r ; — — SR I B
2H-33. -H(§I34I) HI“‘A}% EQE 01!(:*0“ 1 0“&0,, Hus2d
308 XtXI&HH SO0l & 65,964 64,230 1,734
I 65,964
01 XXt B EES 65,964 64,230 1,734
ODEY yTzIY =Y 65,964
| 65,964
HArEMESIIME KR 394,000 409,000 215,000
307 212t0| ™ 394,000 384,000 10,000
10 ALBISXIAIEHER2IHIER 330,000 320,000 10,000
Ok HAEAMLSIHE 2K 330,000
11 M EXANEEx 64,000 64,000 0
Ok HAEHALSIIHEH MR 64,000
HAESH T2 2H9(210)(2H) 193,588 215,838 222,250
| 96,794
T 96,794
307 e12+0| & 193,588 215,838 A22,250
| 96,794
== 96,794
11 AISIEXIMEEX 193,588 215,838 A22,250
OFAHE SN ZZ2OY 2Y 193,588
Il 96,794
T 96,794
HAEUSHI Z208 29(=21) 266,704 244,170 22,534
| 266,704
308 UHXHHSOIN 266,704 244,170 22,534
| 266,704
01 HXESNZBAEES 266,704 244,170 22,534
OFAH SHIL T2 29 266,704
| 266,704
NEAE HLAESEXFAA 2H(2D)(HE) 383,000 378,200 4,800
| 191,500
T 191,500
307 QI2t0| & 383,000 378,200 4,800
J| 191,500
== 191,500
11 ASISIIMEER 383,000 378,200 4,800
OXSAE HAESEXNIAMA RS 383,000
| 191,500
< 191,500
NEAE HLAESEXJAA 2H(=1) 461,500 405,450 56,050
i 461,500
308 AtXIHHMSOIA 461,500 405,450 56,050
| 461,500
01 HXESNBAEES 461,500 405,450 56,050

- 497 -




2A:
A

eel:

HdEAEII=D
Ol A& E4E SE(MSSX/ Q- FAd)
d4EES ¥ HE S

— — - — Bl
SA - B G(E) - HEAY - BaS Ok S HDS2

OXSAS HAFSEANEMA 2= 467,500
I 461,500

HAUHH SYXNH(2D) 1,152,250 1,062,086 90, 164
Il 576,125
= 576,125

307 BI2+0| & 1,152,250 1,062,086 90, 164
9l 576,125
< 576,125

10 AL EXANEEEZ2HHIEX 1,152,250 1,062,086 90, 164
oFAUHH SN 1,152,250
| 576,125
& 576,125

HAHHE SYXNA(NE) 41,000 48,000 A7,000

307 Q120 ™ 41,000 48,000 27,000

1 ABI=S XA X 41,000 48,000 A7,000
OHAUME EAT ABI=X AT 41,000

HAUHSSAE 29(2D)(NE) 296, 136 285,080 11,056
b 148,068
= 148,068

307 BI2+0| & 296,136 285,080 11,056
9l 148,068
< 148,068

11 ANBISRAREE 296,136 285,080 11,056
OHAHSSSME 29 296,136
b 148,068
< 148,068

HAHS 2o 29(2D) 148,068 142,540 5,508
bl 148,068

308 XX EHH SOl A 148,068 142,540 5,508
b 148,068

01 HXISHIAEED 148,068 142,540 5,508
OHAHLSSMEH 2 148,068
b 148,068

HAHYISOIIH0 SF(2D)(HE) 212,438 210,662 1,776
Il 106,219
< 106,219

307 BI2t0I & 212,438 210,662 1,776
Il 106,219
= 106,219

1 ABI=X AR EE 212,438 210,662 1,776
OFAH WHSOBIHD S 212,438
Il 106,219
< 106,219

HAEUDSOIE0 S (2D) 1,023,450 1,014,860 8,500
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HE8A2EI=EL

2A:
FH: Ol 4 HAE SH(MESEX/ 9 -
CPl HAUES U T BS ETRE)
SA- B GR(ENA) - NS - Bes | e | BRE | pasy
— ' —T 023,450
308 XX A SO0l E 1,023,450 1,014,860 8,590
p) 1,023,450
01 AXSHMBAEES 1,023,450 1,014,860 8,590
OF#AY Yu=03t00l 29 1,023,450
J| 1,023,450
HAEREZE 2AE XA(Z1) 37,000 66,000 29,000
= 18,500
= 18,500
307 212t0l & 37,000 66,000 229,000
= 18,500
= 18,500
11 AL SXAIEE X 37,000 66,000 229,000
OCHALERWMNEZ 2AIE N 37,000
=2 18,500
= 18,500
st 8 Had XJ(210)(HY) 227,000 310,000 283,000
J| 158,900
< 68, 100
307 glzto| & 227,000 310,000 A83,000
| 158,900
= 68,100
1M AMEEXAILER 227,000 310,000 283,000
O&w ¥ dad X 227,000
J| 158,900
== 68,100
st 8 a4 X|(=31) 613,200 546,000 67,200
| 613,200
308 A XM SOIH 613,200 546,000 67,200
I 613,200
01 AXStHBAEES 613,200 546,000 67,200
O%w & A4 X3 613,200
| 613,200
A4 SEX(3) 68,600 70,000 21,400
J| 68,600
308 RXIEHHSO0IH 68,600 70,000 21,400
Pl 68,600
Ol RXSMZBAEES 68,600 70,000 A1,400
o&AdE EEXE 68,600
J| 68,600
HAE S2RAE BE 5,537,000 4,125,000 1,412,000
X 5,072,000
== 465,000
YAEAERS(2D)(RE) 500,000 560,000 £60,000
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2A:

M

(=)

el

HABAEINEL
Olch M= HaE SH(ASSK/ Q-
HFAad AL &5

IPSED

et}

SH B GRl(S) - HRAY - Bas

oaer

100,000

@ |

2
=
2

401 Al £ HI L LTI 300,000 560,000 £260,000
X 240,000
= 60,000
01 Al&Hl 300,000 560,000 £260,000
OHAUAL &5 300,000
X 240,000
= 60,000
402 212 XHE01 A 200,000 0 200,000
X 160,000
& 40,000
03 BI2t2IEH AN HI 200,000 0 200,000
OHAWAL &5 IS 200,000
X 160,000
=] 40,000
HAEALSHE(2D) 5,037,000 3,542,000 1,495,000
% 4,672,000
= 365,000
403 X+ XIEHHI S XH2 01 & 5,037,000 3,542,000 1,495,000
X 4,672,000
= 365,000
01 RXSHRESE 5,037,000 3,542,000 1,495,000
OEAEAE &5 5,037,000
X 4,672,000
= 365,000
HHSAAH (KA BAEINSD)(JIEHIIE) 38,274 35,965 2,309
LT 38,274 35,965 2,309
SHeY J=At| 38,274 35,965 2,309
201 YEr2 | 26,034 23,605 2,429
01 At 22l 26,034 23,605 2,429
oORN2Y AR 2| 26,034
202 OfH| 8,640 8,160 480
01 2UHoil 8,640 8,160 480
ORAS2Y 2O 8,640
203 AR EZH| 3,600 4,200 2800
EVEXTEESI 3,600 4,200 800
©209! 0|3t 300, 0008 *128 3,600

- 500 -





